Dělení 100 na drobné

suma/max
  počet kombinací
čas bez tisku
s tiskem

100/100
- 4563 


63 ms

1,5 s
200/200
- 73682
 

890 ms

1,5 min
300/200
- 471363 


6 s
400/200
- 1960497 


32 s
500/200 
- 6295434 


2 min
500/500 
- 6295435


2 min
1x100 

2x50 
1x50 2x20 1x10 

1x50 2x20 2x5 

1x50 2x20 1x5 2x2 1x1 

1x50 2x20 1x5 1x2 3x1 

1x50 2x20 1x5 5x1 

1x50 2x20 5x2 

1x50 2x20 4x2 2x1 

1x50 2x20 3x2 4x1 

1x50 2x20 2x2 6x1 

1x50 2x20 1x2 8x1 

1x50 2x20 10x1 

1x50 1x20 3x10 

1x50 1x20 2x10 2x5 

1x50 1x20 2x10 1x5 2x2 1x1 

1x50 1x20 2x10 1x5 1x2 3x1 

1x50 1x20 2x10 1x5 5x1 

1x50 1x20 2x10 5x2 

.

.

5x20 
4x20 2x10 

4x20 1x10 2x5 

4x20 1x10 1x5 2x2 1x1 

4x20 1x10 1x5 1x2 3x1 

4x20 1x10 1x5 5x1 

4x20 1x10 5x2 

.

.

1x20 8x10 

.

. 

1x20 80x1 

10x10 
9x10 2x5 

.

.

1x10 18x5 

1x10 17x5 2x2 1x1 

1x10 17x5 1x2 3x1 

1x10 17x5 5x1 

1x10 16x5 5x2 

.

.

20x5 

19x5 2x2 1x1 

19x5 1x2 3x1 

19x5 5x1 

18x5 5x2 

.

.

1x5 95x1 

50x2 

49x2 2x1 

48x2 4x1 

47x2 6x1 

46x2 8x1 

45x2 10x1 

44x2 12x1 

43x2 14x1 

42x2 16x1 

41x2 18x1 

40x2 20x1 

39x2 22x1 

38x2 24x1 

37x2 26x1 

36x2 28x1 

35x2 30x1 

34x2 32x1 

33x2 34x1 

32x2 36x1 

31x2 38x1 

30x2 40x1 

29x2 42x1 

28x2 44x1 

27x2 46x1 

26x2 48x1 

25x2 50x1 

24x2 52x1 

23x2 54x1 

22x2 56x1 

21x2 58x1 

20x2 60x1 

19x2 62x1 

18x2 64x1 

17x2 66x1 

16x2 68x1 

15x2 70x1 

14x2 72x1 

13x2 74x1 

12x2 76x1 

11x2 78x1 

10x2 80x1 

9x2 82x1 

8x2 84x1 

7x2 86x1 

6x2 88x1 

5x2 90x1 

4x2 92x1 

3x2 94x1 

2x2 96x1 

1x2 98x1 

100x1 
public class deleni {

public int[] castka1= new int[10];

public static int cykl=0;

static String vypis(int[] c){

String  soucetp="";

int pom=0;

for (int i=c.length-1;i>=1;i--){

  switch (i){

  case 1: pom=1; break;

  …
  case 9: pom=500; break;
  }

  if(c[i]>0) {soucetp=soucetp+String.valueOf(c[i])+"x"+String.valueOf(pom)+" ";};
}

return String.valueOf(cykl)+": "+ soucetp;

}

static void stovka(int[] castka,int max) {

    if (castka[0]==0) {

      cykl++;

      System.out.println(vypis(castka)); // vypis

      return;

    }

    int[] cast=new int[10];

    if ((castka[0]>=500)&&(max>=500)){

      System.arraycopy(castka,0,cast,0,cast.length);

      cast[0]=cast[0]-500;

      cast[9]++;

      stovka(cast,500);

    }

…

…

    if  ((castka[0]>=1)&&(max>=1)){

      System.arraycopy(castka,0,cast,0,cast.length-8);

      cast[0]=cast[0]-1;

      cast[1]++;

      stovka(cast,1);

    }

}

public static void main(String[] args) {

   int[] pok =  {100,0,0,0,0,0,0,0,0,0,0};

   long cas=System.currentTimeMillis();

   stovka(pok,100);

   System.out.print(cykl+" cas: "+(System.currentTimeMillis()-cas)+" ms");

 }
}  
nusl.webzdarma.cz/fel
